A70  Answers to Exercises and Chapter Tests

SECTION 6.2 = PAGE 448

1. (a)

opposite

adjacent

hypotenuse

opposite  adjacent opposite L
(b) , T (c) similar
hypotenuse  hypotenuse” adjacent

2. sinf,cos 0, tan O
3. sin@ = g,cos()-—g tanG = 3,csc(? —4,se09 =3 coth =3
4. sin @ = 35, cos 0 =2, tan O = 34, csc = sec() =2

=2 5 31n0—4?,c059— anG—- cscB‘“‘“,
sec =%, cotf =4 6. sinf=13,cos0 = 17,tanH =8
csc@ =1L secf =4, cotd =
7. sin 6 = 2V13/13, cos § = 3V13/13,tan = 3,
ese B = V13/2,sec 0 = V13/3,cot§ =3
8. sinB =1 cos § = VI5/8, tan 6 = 7V15/15,
esc O =%, sec § = 8V15/15, cot() = V15/7
9. (a) 3V34/34,3V34/34 (b) 3,2 (¢) V34/5,V34/5
10. (a) 3,4 (b) 4V/33/33, 4\/_ /33 () 7V/33/33, 7V33/33
1. % 12 12v2 13, 13V3/2 14, 4V/3 15, 16.51658
16. 31.30339 17. x =28 cos 6,y = 28 sin 0
18. x=4tan 0,y = 4 sec§
19. cos 6 =§,tan6 =2 cscf =23 sech=3cotd =1
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20. sin 8 = 7V/31/40, tan 6 = 7V/31/9, csc § = 40V/31/217,
sec § = 2, cot§ = 9V31/217
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21. sin 6 = V2/2,cos0 = V2/2,tan 0 = 1,
cscf = V2, secd = V2
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22. sin@ = V3/2,cos § = 4, csc @ = 2V3/3,
sec @ = 2, cot8 = V3[3
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23. sin 6 = 3V/3/7, cos 0 = 2, tan 6 = 3V/3/2,
csc O = TV5/15, cot § = 2\/“/15
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24. sinf = —§ cos = tan0 = secd =2 cot 6 =

0

25. (1+V3)/2 26.1 27.1 28.1 29.1%
30. 12 - V3)

31. 32,

1672 = 22.63 =
16 103.52 f15% 00

33. 34,
229
14,79 56.85 1000 927.18
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374.61
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12,82 41.74

37. 38.
425
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3n T |162.64
180.34
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392.65
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39, sin 8 = 0.45, cos 6 = 0.89, tan & = 0.50, csc 6§ = 2.24,

sec 8 = 1.12,cot 8 = 2.00

40. sin 40° = 0.64, cos 40° = 0.77, tan 40° = 0.83, csc 40° = 1.56,
sec 40° = 1.39, cot 40° = 1.20 41. 2309 42. 98.1 43. 63.7
44, 58 45. x=10tan O sin O

46. a =sinf, b=tanf,c =secH,d=cos8 47, 1026 ft
48. (a) 93,4311t (b) 86,628 ft 49, (a) 2100 mi (b) No
50. 471 ft 51, 19ft 52, 544 ft 53. 345 ft 54, 104.5ft
55, 415 ft, 152 ft 56. 11,379 ft 57. 2570 ft 58. 3.7 mi
59, 5808 ft 60. 473 m 61. 91.7 millionmi 62. (a8) 89.05°
(b) 236,000 mi 63. 3960 mi 64. 2.53 X 10" mi

65. 0.723 AU



